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259| 142-16-5 ) =<7 —k At VA 0.001 0.1 100 0.1 0.01 100 0.1

260| 13189-00-9 FER=E ZAAR91)S5—k VA VA 0.001 0.1 100 0.56 0.1 0.01
1—[(38R, 3aR, 7R, 8aS) —3,

6, 8, 8—TrSAFIL—2, 3, 4,
_ER_ 7. 8, 8a—~AFHEFO—1H—3

261| 32388-55-9 o T AR TR —B—A L] T A 2 0.0014 0.0716 50 > | 0.0716 0.0716 0.0143 0.21 0.087 0.0174 0.184 0.00184
R

262 90-02-8 2—ERFAXIARUXTILTER 2 A A 0.0016 1.62 1000 476 0.55 0.11 2.6 0.126 0.0252 1.62 0.0162

e 4, 4 —pAanxHo—1, 1—

263| 843-55-0 SANST— L 2 2 At 0.0018 1.8 1000 (> | 3.64 0.92 0.092 1.81 0.18 1.82 0.018

264| 120-57-0 ExXO)-—)L 2 A &) 0.0025 25 1000 31 1.1 0.11 52 5.2 25 0.025

265| 830-13-7 oakTh/ > 2 VA VA 0.0025 2.5 1000 7.77 4.63 0.463 2.5 0.025

266| 111-71-7 T+ —)L 2 vAs VA 0.0027 0.27 100 29 0.27 0.027 413 0.413 12 0.12
II~—‘\‘-“/1I:.7°EI7I'3=\’-°/1I:_'}_"_)L:|—)L

267| 154518-36-2 (C=9~11.C=10z"maH. 1 2 4t 1 0.0030 3.08 1000 7.98 2.2 0.22 7.93 0.793 3.08 0.0308
VR

268| 590-86-3 3—AFILTEF—IL 2 A &) 0.0032 3.25 1000 112.78 71.89 7.19 177 17.7 3.25 0.0325

269| 108-46-3 LYILI Y 2 VA VA 0.0034 0.172 50 > 97 97 19.4 1 0.172 0.0344 26.8 0.268

270 111-13-7 2—AHRI) 2 VAs VA 0.0036 36 10000 36 0.036

271 135-19-3 2—FJk—)L 2 VAs A 0.0040 4 1000 2.1 0.58 0.116 5.3 0.69 0.138 4 0.04
1, 3, 5—FJR(CAFILTZI)T

272| 15875-13-5 Ell:}l{)/\:’F'H'tFEl—‘l, 3, 5—Fhk A 4t 0.0040 0.4 100 > 777 04 0.04 62.6 0.626 100 1
Y7oy

273| 1321-74-0 DEZ LR EY 2 VAs VA 0.0041 4 1000 1.7 0.81 0.162 2 0.353 0.0706 4 0.0416

274 110-25-8 N—AFIJL—N—FALAALILT)S A A 0.0043 0.43 100 6.3 0.91 0.091 0.43 0.043 0.43 0.0043

275 96-96-8 2—=hFA—p=r= & 2 0.0044 4.4 1000 12 0.47 0.047 4.4 0.044 41 0.41

e 2—AFILRUAF—)L(Fl® 2—

276| 123-15-9 AFILIALILTILTFER) A 2 0.0047 0.47 100 6 047 0.047 15 1.5 18.8 0.188

277| 110-83-8 oanitty VA A 0.0058 5.8 1000 3.6 067 0.134 2.1 0.74 0.148 5.8 0.058

278| 25339-17-7 A4 )Th/—IL A A 0.0059 5.9 1000 6.8 1.7 0.34 3.5 0.4 0.08 5.9 0.059
(R)—2—AFJ)L—5—(FA/\—1

279| 6485-40-1 —I —2—A)L)Hanty— &} A 0.0061 6.1 1000 19 4.3 0.43 38 3.8 6.1 0.061
2—I—1—7#>

280 100-69-6 2—EZJLEYSY 2 VA 4} 0.0065 6.5 1000 62 27 5.4 9.5 0.9 0.18 6.5 0.065

oL oanidr—1, 3—2A)LE | 7=

281| 2579-20-6 2AFILTI) 8 2 A 2 0.0065 65.4 10000 56.7 13.7 1.37 65.4 0.0654

282 119-36-8 AFIL=2—EFOFI XY T7—k 2 vAs A 0.0079 0.79 100 1.6 0.79 0.079 100 0.1

283 103-83-3 N, N—OAF IR LTI 2 VAS 4} 0.0080 0.4 50 1.4 0.4 0.08 69 0.789 0.158 24 0.24

284 142-62-1 AN Y B 2 A A 0.0088 88 10000 88 0.088
2 2" —ERXR(4 —EeFO*xY —

285 79-94-7 3,5 —>oJAaE7z=)L)7Aan 2 A 0.0091 9.19 1000 9.48 1.98 0.396 7.87 0.8 0.16 9.19 0.0919
>

286 106—24-1 F5=A—])L 2 A VA 0.010 1 100 13.1 1 0.1 10.8 1.08 22 0.22

287 84-74-2 I3 —1—A)L=D35—Fk 2 vAS VA 0.010 0.1 10 252 0.3 0.3 2.99 0.33 0.33 0.48 0.1

288| 124-63-0 A3 R)LAR=)Lo0Ol) k VAs A 0.011 11 1000 32 34 3.4 11 0.11
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1—/FRILI)L—4— (4 —EFOFx

289 | 31906-04-4 =4 —AFILRUFIL) —3— 3 &\ &\ 0.011 11.8 1000 25.4 5.95 0.595 15 15 11.8 0.118
sanFxty
— T3S =
290 504-29-0 2=rI/e)TY Z ;E 3 &\ T2 0.011 11 1000 12 2.1 0.21 35 0.35 11 0.11
*H
N —[3—(CAFJ)LF7Z/)TAE =
291| 6711-48-4 JLI—=N, N=SAF)LTany— |0 2 3 28 VAN 0.012 1.2 100 7.9 1.2 0.12 50.3 0.503 48.9 0.489
S = 58
1, 3—vV 7Y
292| 55066-48-3 3;_1’: ?175’_71_) kg 3 #4 54 0.013 13 1000 16 6.25 0.625 13 0.13
e 2—AFI)L—1—TJz=)L7a/IY
293 151-05-3 o =Tt 3 &\ &\ 0.015 15.4 1000 15.4 0.154
DAFIL=2, 5—:“)7J'1F“/*‘/7|:|/\
294| 6289-46-9 Yo —1, 4—JHILRFDS5— 3 &\ &\ 0.016 1.63 100 51.3 1.63 0163 > | 100 |> 10 >| 500 |> 5
~
i CEROFI I ILAZY B _ _
295 1333-16-0 PRI 2)—JLF] 3 28 VAN 0.016 0.84 50 221 10-20 2-4 8.7 0.84 0.168
rel— (1R, 2S, BR) —2—4A(Y 7
296| 89-78-1 Slt)[':—5—>‘9‘)b°/’7ﬂ’\j?*7“ 3 ot 4 0.017 17.6 1000 16.2 5 0.5 71 7.1 17.6 0.176
—)
297 140-11-4 RN I=F7t4—r 3 VA VA 0.018 0.92 50 110 52 10.4 17 1.7000 4 0.92 0.184
208 119-61-9 Ryodx)> 3 A A} 0.020 0.2 10 3.53 1 > 10 0.2 0.2 10.9 0.54 0.54
299 108-99-6 S—AFILEYDY 3 VA ZAy 0.020 1 50 320 0.2 34 1 0.2 144 1.44
300 123-92-2 BEER AR FIL 3 &} A\ 0.021 215 1000 | > 80 80 8 42 4.2 215 0.215
301 108-59-8 TAVEEDAFIL 3 &t A 0.021 21 1000 386 20 2 > 1000 |> 100 21 0.21
RILLTILTER-TT/—)L-1, 3
302| 57214-10-5 '_7111/,:) AR TIUEAY 3 VAN A | 0.025 | 259 1000 [|#9| 204 10 1 | 298 |#9| 2.98 | 259 |[#9| 0.259
303| 110-62-3 SEET7ILTER 3 4} 4 0.027 27.9 1000 68.7 18.8 3.76 64.6 25 0.5 27.9 0.279
304|  75-64-9 tet— I FILTIY Z ’*:E 3 #} o} 0.028 28 1000 16 136 1.36 28 0.28
pozs
305 108-83-8 2, 6—UAFI—4—~TRI)> 3 A ZAy 0.030 30 1000 46.9 3.55 0.355 37.2 3.72 30 0.3
306 75-66-1 2—AF LTI —2—FF—JL 3 A} A} 0.034 34 1000 24 6.41 0.641 6.7 0.67 34 0.34
N—AFO—)LT7 ) ILT AR [HI
307 924-42-5 Z:N—(EFOXAFIL)TI)IL 3 VA A 0.035 356 10000 356 0.356
73K]
308 928-96-1 cis—3—~"Ft—1—F—)L 3 A VA 0.038 381 10000 381 0.381
309| 4189-44-0 —FBAEFAOLT 3 vAS VA 0.042 2.1 50 49 9.3 1.86 81 2.1 042 (> 100 |> 1
310 79-09-4 JAaEA B 3 vAS A 0.051 51 1000 48.7 22.7 2.27 51 0.51
311|  89-05-4 lﬁg 4, S=RUELTRIAIR 3 1 5} 0.062 6.25 100 8.1 6.25 0.625 63 6.3 >| 100 |>]
312 111-44-4 2,2 =490 I F)LIT—TIL 3 VA A\ 0.062 3.1 50 340 56 11.2 410 3.1 0.62 600 6
313| 88-44-8 }21/;_7/%; —S—AFIA LR 3 \ 48 0.064 3.2 50 [>| 10 10 2 21 3.2 064 [>] 10 |>]| o1
314 92-70-6 B —eROXSFIRTER 3 VA VA 0.068 68 1000 64 6.8 1.36 33 10 2 68 0.68
315 111-14-8 NTREE 3 &t VAN 0.074 74.8 1000 56.4 32 6.4 72 17.9 3.58 74.8 0.748
316 99-04-7 m— kLA JVEE 3 & &\ 0.082 82 1000 17 4.6 0.92 75 9.7 1.94 82 0.82
317  109-89-7 YIFINTRY Z f‘E 3 4 28 0.084 4.2 50 54 11 2.9 56 4.2 084 |[>| 100 |[> 1
pozs
318 520-45-6 3—F7tr,—6—AF)L—2—F0O/ 3 VA G4 0.088 8.48 100 28.4 8.84 0884 [[>| 884 |>| 0884
319 110-16-7 2L AR 3 VA A 0.089 89 1000 74.35 11.8 2.36 42 81 12 24 89 0.89
320 137-16-6 N—>7O4)LY)Las U Nalg 3 vAs A 0.092 9.2 100 79 9.2 0.92 29.7 2.97 107 1.07
321 75-29-6 2—HOoQ7asy 3 A VA 0.095 95.9 1000 500 74 7.4 103 10.3 95.9 0.959
322 111-27-3 1—~FXH/—)L 3 A S 0.097 97.2 1000 79.7 11.3 1.13 201 20.1 97.2 0.972
D—F I h—ILEATH TR
—EFA—w—ErFAFXL —RY[F _ > >
323| 52625-13-5 £ (AFLTFL ] DT—T 3 &\ A\ 0.10 >= 10 100 |[>| 100 > 1 100 2| 10 |2 1
JL
324 116-53-0 2—AF LT R EE 3 A VA 0.10 > 1000 10000 > 1 1000 |> 1
325 298-12-4 JUAXTILEE 4 A A} 0.12 6.4 50 33 8.4 1.68 51 6.4 128 [[>] 100 |> 1
326 98-86-2 VAT EID 4 VA S 0.15 155 1000 86.4 24.8 248 528 52.8 155 1.55
327 75-18-3 BiE D AF )L 4 VA G4 0.16 8.3 50 23 14 2.8 29 8.3 1.66 213 2.13
328 17194-00-2 IKERAE /N Y Ls 4 vAs A 0.18 18.1 100 > 1.92 1.92 0.192 18.1 1.81 > 35 > | 0.035
329 111-17-1 3, 3 —FATTaEAUEE 4 A 4} 0.19 9.81 50 50.1 30 6 73.1 9.81 1.96 > 991 | >]| 0.991
330 616-45-5 2—Faykry 4 A VA 0.22 222 100 |[>]| 500 22.2 222 > 500 |> 50 6782 67.8
331 137-32-6 2—AFIILTRZ —1—F—)L 4 VA A} 0.29 29 100 [[>]| 353 29 29 > 173 [>| 173 > 120 [ > 1.2
332| 102-01-2 ThEEEE 7 =R 4 VAs VA 0.29 297 1000 318 180 18 116 11.6 297 297
e K)R[(TFRY—2—A)FT2T))
333| 22984-54-9 FEL] AFIL) S 4 &\ &\ 0.30 30 100 94 30 3 > 120 | > 12 > 120 | > 1.2
334| 687-47-8 ZLEETTFIL 4 VA VA 0.32 320.0 1000 3500 320 32 683 68.3 320.0 3.2000
335 108-80-5 AV T X—)LES 4 A VA 0.64 32 50 950 250.00 50 1000 32 6.4 > 100 |[> 1
336 109-87-5 DART I AR 4 A v 0.69 6990 10000 > | 1200 12 6990 6.99
IFIL=AF)L=HILKRF+—k
337| (623-53-0) 2-3698 &\ 2 A\ 0.62 62 100 | > 62 62 6.2 > 100 |> 10 > 100 |> 1
. ——— -
338 143-22-6 ;J_ I_;jllj ~7VA—IRITTFIV 28 2 A\ 1.7 86 50 > | 920 86 17.2 2210 z 100 i 20 2400 24
FRIDL 1,1, 3—RUFFY—
339 128-44-9 SH—ARUY[dIMYFT7YI—IL— VA VA VAN 1.8 18300 10000 18300 18.3
2—AF
340 71-23-8 1—2Ja/s8/—)L 2 2 A\ 45 4555 1000 9170 2000 200 3025 303 4555 45.6
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341 137-40-6 Fr)o L=TaEAF—k vy iy AS 4.7 4740 1000 80.6 80.6 8.06 100 10 4740 474
3—tkOx>—2, 2—JAFNT
342| 1115-20-4 AE)L=3—tkaox>L—2, 2—> A VA VAN 55 559.6 100 2000 870 87 559.6 56 1039.9 10.4
AF)ILTAEAF—k
—_ NP o J. —_ N T
343| 111-96-6 ;,’;;j;j 2= (2—ArFTh AN &\ ZAS 6.4 320 50 10000 5000 1000 943 320 64
60— 2, 2 —[AFER(TAV—2, 1
344| 112-60-7 S ANF RN TS T A= &} A4S A} 7.7 7746 1000 7746 715 10000 10
345 107-41-5 }21/_’( F—2 d-nyEod— o 2 2 8.6 8690 1000 1000 1000 200 3200 z 100 z 20 8690 86.9
g — ==
346| 23783-42-8 ;Ii—cl/i;ﬁazu—:—lﬂlib (EaES, VAN VAN VAN 22 22900 1000 22900 229 20000 2
a—ERO—w—EFOxSFRY)[F
FOAFILIFLU)]IEBR —D—
347| 9049-71-2 IILHRTS S =@ —D—%5 L AN &\ VAN 27 27200 1000 100 10 100 10 27200 272
OES/ORDI—TIL
348| 100-97-0 l 8.5, 7=ThITYTINLS j FE A} &} AN 41 41000 1000 100 100 36000 i 99.1 z 19.82 41000 410
349| 112-35-6 ﬁ;[/ 2];,;2 /__’jl': FUIbFU)T h ot fh 25 500 200 500 500 50 10000 100
RYTF EJARTFUOEED ===
350 6-774 NITT2 ORI TV ERD) AN ZAN VAN B%%Sﬁ 19.2 100 1
351| 67762-27-0 7)A—IL(C=16~18) s | s st BE(%;‘?% 0.4 0.0004
\ > s [=) £ — =k
352| 8007-43-0 JVESLIRIARERT L o s 5t Bﬁ(%jgﬁﬁ 2| 011 |2] oot
- h BAZN\ ZF =+
353| 64742-52-5 KRWEESTTRBHES s s 5} B%%;t?ﬁ 100 :
=3 oF =+
354| 8030-12-4 KSR Ae A+l &\ AN AN Bﬁé%j?ﬁ 100 100 10 100 1
355 97-59-6 S—=ILAFES VY 4t 4t ot B%%Sﬁ 100 100 10 100 10 5000 50
356| 661-19-8 FRTy—1—F—lb o1 o1 o} Bﬁ(féjﬁ 1000
N FRIDL=4—EZJLREUR PR B S BR
357| 2695-37-6 Lk —h PAx AN VAN (FE ) 1000
T — < e
358| 103-23-1 ;{)/ EYBER(2=TFAFY #} g 48 Bﬁi;’éj;ﬁﬁ 50 50 0.0032 0.0032 50
359| 124-10-7 AFIN=TESTH/T—h AN &1 AN Bﬁi%;t;ﬁﬁ 0.023 0.023 0.02 1000
360 110-05-4 Y —tet =T FIANFFUE ot Hh ot BE(%;&;E% 73.1 160
361| 2425-77-6 2=AFYNTAY === 2 st 728 BE(EES% 0.0113 0.0113 0.035
1,3, 5—FMJR(2—EFOFS T w——
362| 839-90-7 F L) A /i%le,ﬁg FR%F> 28 28 AN B%%j;"&ﬁ 1000 1000 1000 100 100
363| 646-06-0 1. 8=UAFYSY A 4% VAN B%;’E;‘;Eﬁ 877 877 95.4
FL4B) BEEIS1F- &M LD E LML F Y E (&

PNECEHDEMNT—4

MPNECEH T, &P EIHEFIHT. PNECEHFEF ((A)/(B)) (XEZIEF24T GHIBZYIVET) &L=,




